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  Period____Date________________Graphing and Properties of Parabolas

Identify the vertex, axis of symmetry, and direction of opening of each.
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Graph each equation.
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Identify the min/max value, length of the latus rectum, intercepts on the axis parallel to the axis of

symmetry, and intercepts on the axis perpendicular to the axis of symmetry of each.
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  Period____Date________________Graphing and Properties of Parabolas

Identify the vertex, axis of symmetry, and direction of opening of each.
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Vertex: (8, 6)
Axis of Sym.: 

  

x

 

 = 8

Opens: Down
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Graph each equation.
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Identify the min/max value, length of the latus rectum, intercepts on the axis parallel to the axis of

symmetry, and intercepts on the axis perpendicular to the axis of symmetry of each.
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